Centrifugal Clutches By Engine Model

MODEL DESCRIPTION

Various Models Centrifugal Clutch ................... SUUUTUTT

AA Centrifugal Clutch (Obsolete) ...

AA Centrifugal Clutch (Obsolete) ...

AB Centrifugal Clutch (Obsolete}

AB Centrifugal Clutch {Obsolete) ..............................

AB Centrifugal Clutch (Obsolete) ...

AB : Centrifugal Clutch {Obsolete) ............................

ABN ' o Centrifugal Clutch {Obsolete) ............................

ABN ' Centrifugal Clutch (Obsolete)

ABN Centrifugal Clutch (Obsolete)

ACN _ Centrifugal Clutch {Obsclete)

ACN Centrifugal Clutch ...

ACN o : Centrifugal Clutch (Obsclete) ............................

ACN ~ Centrifugal Clutch ..o WW44B22-1200 & 1600RPM
ACN . Centrifugal Clutch {Obsoclete) ...

ACN .. . . Centrifugal Clutch ....... TP

ACN - _ Centrifugal Clutch (Obsolete)

ACN ' Centrifugal Clutch (Obsolete) ...

ACN ~ Centrifugal Clutch (Obsolete) .o.oovvovvevoeee

ACN : Centrifugal Clutch ...

ADH ~ Centrifugal Clutch ........ e, WW44B13-1600 & 1800RPM
ADH Centrifugal Clutch (Obsolete) ...

ADH Centrifugal Clutch (Obsolete)

AEH . . Centrifugal Clutch ........ [ WW44B13-1600 & 1800RPM
AEH _ Centrifugal Clutch ...

AEH ' Centrifugal Clutch ....ocooveveiee WW44M1600 & 1800RPM
AEN : . -Centrifugal Clutch................... WW44AM1600 & 1800RPM
AEN - ~ Centrifugal Clutch .................. WW44AM1-1600 & 1800RPM
AEN , . Centrifugal Cluteh ..................WW44B10-1600 & 1800RPM
AEN Centrifugal Clutch .................... WW44B13-1600 & 1800RPM
AEN - Centrifugal Clutch (Obsolete) ..o

AEN . Centrifugal Clutch (Obsolete) ...

AEN ' “Centrifugal Clutch (Obsolete) ..o,

PART NO.

WW4471500RPM
WWA44B14

WW44B39
WWW44B851-1700RPM

WW44K1600 & 1800RPM

WW44B33

AEN Centrifugal Clutch ... e,



Centrifugal Clutches By Engine Model (Cont.)

MODEL

AENL
AENL -
AENL
AENL

AENL
AENL
AENL
AENL
AENL
AFH
AFH
AFH
AFH
AGH
AGH
AGH
AGH
AGND
AGND

AGND

AGND
AGND
AGND
AGND
AHH
AHH
AHH
AHH
AHH
AK

AK
AK
AKN
AKN

DESCRIPTION ' ' PART NO.
Centrifugal Clutch (Obsolete) ... WW44AM
Centrifugal Clutch (Obsolete) ... WWA44AM1T
Centrifugal Clutch ... WW44AY1600RPM
Centrifugal Clutch .................... WW44B13-1200, 1500, 1600,
1700, & 1800RPM

Centrifugal Clutch (Obsolete) ........... T WW44B28
Centrifugal Clutch ..................... e WW44B54-1500RPM
Centrifugal Clutch ................... WW44B57-1200 & 1400RPM
Centrifugal Clutch {Obsolete) ... WW44V1
Centrifugal Clutch ............. [ETTURPR WW4471-1500RPM
Centrifugal Clutch ..................... WW44G2-1200 & 1400RPM
Centrifugal Clutch .................... WW44G22-1200 & 1400RPM
Centrifugal Clutch............. WW44G24-1200, 1400, 1600RPM
Centrifugal Clutch (Obsolete) ..o Ww44G25
Centrifugal Clutch ................. L CWWAE4G2-1200 & 1400RPM
Centrifugal Ciutch ................... WW44G22-1200 & 1400RPM
Centrifugal Clutch .......... WW44G24-1200, 1400 & 1600RPM
Centrifugal Clutch {Obsolete) ..o, WW44G25
Centrifugal Clutch {Obsolete) ... WWA44B28
Centrifugal Clutch ... WW44BC1200RPM
Centrifugal Clutch ......... RSOSSN WWA44E1200RPM
Centrifugal Clutch ..o WW44G1-1200RPM
Centrifugal Clutch (Obsolete) ........ooovoveveeev . WWA44G10
Centrifugal Clutch oo, WW44G22-1200 & 1400RPM
Centrifugal Clutch (Obsolete) ... WW44G25
Centrifugal Clutch (Obsolete) ... WW44B10
" Centrifugal Clutch.......... s WW44G2-1200 & 1400RPM
Centrifugal Clutch .................... WW44522-1200 & 1400RPM
Centrifugal Clutch .......... WW44(G24-1200, 1400 & 1600RPM
Centrifugal Clutch {Obsolete) ... WW44G25
Centrifugal Clutch {Obsolete) ..o WW44B12
Centrifugal Clutch {Obsolete) .ovoovvviiiiiieiiieiie WW44B14
Centrifugal Clutch (Obsolete) ... Ww44y
Centrifugal Clutch (Obsolete) ..., WW44B14
Centrifugal Clutch ................... WW44B22-1200 & 1600RPM

Wisconsin Centrifugal Clutches



Centrifugal Clutches By Engihe Model (Cont.)

MODEL

AKN
AKN
AKN
AKN
BKN
BKN
BKN
BKN
BKN
BKN
BKN
BKN
STD, $8D
$8D
S10D, S12D, S14D
TE |
TE
TE
TE
TE
TE
TF
TF
TF
TF
TF
TF
TF
TF
TF
THD
THD
THD
THD

DESCRIPTION - PART NO.
Centrifugal Clutch {Obsolete} .............................. WW44B34
Centrifugal Clutch (QObsolete) ..., WW44K
Centrifugal Clutch (Obsolete) ... WW44Y
Centrifugal Clutch ... WWA4471-1500RPM
Centrifugal Clutch (Obsolete) ... WW44-2
Centrifugal Clutch (Obsolete) ... WW44B12
Centrifugal Clutch (Obsolete) ............................. WW44B14
Centrifugal Clutch .............. L WWA44B22-1200 & 1600RPM
Centrifugal Cluteh ........... SRR WW44851-1700RPM
Centrifugal Clutch (Obsolete) ... WW4a4y
Centrifugal Ciutch (Obsolete) ... WWW44VT
Centrifugal Clutch ... WW44/71-1500RPM
Centrifugal Clutch ... WW44B51-17008PM
Centrifugal Clutch ................... WW44B22-1200 & 1600RPM
Centrifugal Clutch ............... J WW44BJ1800RPM
Centrifugal Clutch (Obsolete} ..., WWA44AA
Centrifugal Clutch ......oooon WW44G2-1200 & 1400RPM
Centrifugat Clutch ............ WW44G8-1200, 1400 & 1600RPM
Centrifugal Cluich {Obsolete) ............ooccovvviiiinn WW44G23
Centrifugal Clutch .......... WWwW44G24-1200, 1400 & 1600RPM
Centrifugal Clutch ... WW44G34-1700RPM
Centrifugal Clutch {Obsolete) ... WWA44AA
Centrifugal Clutch ...................... WW44G2-1200 & 1400RPM
Centrifugal Clutch ............ WW44G8-1200, 1400 & 1600RPM
Centrifugal Clutch (Obsolete) .o, WW44G10
Centrifugal Clutch (Obsolete) ... WW44G21
Centrifugal Clutch (Obsolete) ............................ WWA44G23
Centrifugal Clutch .......... WW44G24-1200, 1400 & 1600RPM
Centrifugal Clutch (Obsolete) .............................. WW44G25
Centrifugal Clutch.............................. WW44G34-1700RPM
Centrifugal Clutch (Obsolete) ... WW44E
Centrifugal Clutch.............................. WWA44G1-1200RPM
Centrifugal Clutch ...................... WW44G2-1200 & 1400RPM
Centrifugal Clutch {(Obsolete) ... WW44G23

Wisconsin Centrifugal Clutches



Centrifugal Clutches By Engine Model ({Cont.}

MODEL DESCRIPTION

THD Centrifugal Clutch .......... WW44G24-1200, 1400 & 1600RPM
THD Centrifugal Clutch ...

THD Centrifugal Clutch.....o.oo

TJD Centrifugal Clutch ...

TJD Centrifugal Clutch ... .

TJD Centrifugal Clutch ............ WW44G8-1200, 1400 & 1600RPM
TJD Centrifugal Clutch .......... WW44G24-1200, 1400 & 1600RPM
TJD Centrifugal Clutch (Obsolete) ...

TJD . o Centrifugal Clutch ...

TJD Centrifugal Clutch ... ...

1JD Centrifugal Clutch ...

VE4D Centrifugal Clutch (Obsolete) ..o

VE4D . ‘ Centrifugal Clutch ...

VF4D S . Centrifugal Clutch (Obsolete) ...

VF4D - L Centrifugal Clutch........ T

PART NO.

WW44G27-1200RPM

WW44G25
WW44G27-1200RPM
WWA4G34-1700RPM
WW44G35-1200RPM
WWA44E4
WW44(G15-1200RPM
WWA4EB
WW44(G15-1200RPM
WW44(G15-1200RPM

VH4D - Centrifugal Clutch ... S

Wisconsin Centrifugal Clutches



Centrifugal Clutches By Part Number

PART NO.

WW44-2
WWA4AA
WWA44AM
WWA4AMT
WWA4AY
WWA44AY
WW44B10
WW44B12
WW44B13
WW44B14
WW44B22
WW44B28
WW44B33
WW44B34
WW44B35
WW44B39
WWA44B51
WW44B54
WW44B57
WW44BC
WW44BJ
WW44E
WW44E4
WWA44EGB
WW44G1
WW44G2
WW44G8
WW44G10
WW44G15
WW44G21
WW44G22
WwW44G23
Wwi44G24
WW44G25

DESCRIPTION S MODEL
Centrifugal Clutch ... BKN, ACN, AB, AA
Centrifugal Clutch ........... SRS PORURURUPRRPRIN TE, TF
Centrifugal Clutch ...................... SUPUURUUUURU R AEN, AENL
Centrifugal Cluich ... ... AEN, AENL
Centrifugal Clutch ... Various
Centrifuga! Cluich ....... OO PO RR RS RRRRRPOO LAENL
Centritugal Clutch ... AEN, AHH
Centrifugal Clutch ..o ACN, BKN, AA, AB, AK
Centrifugal Clutch ... AENL, ADH, AEN, AEH
Centrifugal Clutch ................... ABN, AKN, AB, AK, ACN, BKN
Centritugal Cluich ... 58D, ACN, BKN, AKN
Centrifugal Clutch ... AENL, AGND
Centritugal Clutch ..., AEN
Centritugal Clutch ..., AKN
Centrifugal Clutch ... AEN
Centrifugal Clutch ... ACND
Centrifugal Clutch ... ACN, BKN, S7D, S8D
Centrifugal Clutch .., AENL
Centritugal Clutch ..., AENL
Centrifugal Clutch .. AGND
Centrifugal Clutch ..., 512D, 514D, S10D
Centrifugal Clutch ... AGND, THD
Centrifugal Clutch ... VE4
Centrifugal Clutch ..., VF4D
Centrifugal Cluteh ... AGND, THD, TJD
Centrifugal Clutch ........... THD, TJD, TE, TF, AFH, AGH, AHH
Centrifugal Clutch ... TJD, TE, TF
Centrifugal Clutch ... AGND, TF
Centrifugal Clutch ... VF4D, VH4D, VE4D
Centrifugal CIUTCh ... e TF
Centrifugal Clutch ... AGND, AHH, AGH, AFH
Centrifugal Clutch ... THD, TE, TF
Centrifugal Clutch ........... THD, TJD, AFH, AGH, AHH, TE, TF
Centrifugal Clutch ................ TJD, AGN, AHH, AGH, AFH, TF

— Wisconsin Centrifugal Clutches



Centrifugal Clutches By Part Number (Cont.)

PART NO.

WW44G27
WW44G34
WW44G35
WW44K
WW44M
WwWa4a4v
WW44V1
WW4471

DESCRIPTION _ ' MODEL
Centrifugal Clutch ..., TJD, THD
Centrifugal Cluich ...................... ORI TE, TF, TH, TJD
Centrifugal Clutch ... TJD
Centrifugal Clutch................ .....ACN, ABN, AKN, AEH, ADH
Centrifugal Clutch .......... SO AEN, ADH, AEH
Centrifugal Clutch ................... ACN, BKN, AB, AK, ABN, AKN
Centrifugal Clutch ... ACN, BKN, AENL
Centrifugal Clutch ............ AENL, ABN, AEN, AKN, ACN, BKN

- Wisconsin Centrifugal Clutches



GROUP 1

GROUP 2

Automatic Centrifugal Clutches

A

7-3/16 GROUP 1
7-5/16 GROUP 2

L=

“1" Indicates Grooves

/ Towards Engine
NOTE: Standard crankshaft used in all cases except where indicated.

ENGINE BELT NO. DIMENSIONS POSITION | CLUTCH REMARKS
MODEL | SECTION | GROOVE A B C OF PART NO.
GROOVES
2 4 2-3/32 | 5/8 1 WwWa44B14
A 2 5 2-3/32 | 5/8 1 WW44B15
2 7-3/4 11-3/4 |5/8 1 WW44Vv1
ACN
BKN 1 4-1/2 | 2-3/32 | - 1 WW44B18
S-7D 2 4-1/2 | 2-5/32 | 3/4 1 Ww44B22
S-8D B 2 5-1/2 | 2-316 | 3/4 1 WW44B51
3 4 2-3/16 | 3/4 0 WW44B36
3 4 2-1/4 |3/4 1 WwdazZ1 Special Crankshaft
A 2 4 2-3/32 | 5/8 1 WW44B41
AENL
S-10D 2 4-1/4 | 2-5/32 | 3/4 1 WWwW44B32
S-12D B 2 5 2-5/32 | 3/4 1 WW44B13
S-14D 2 5-3/8 | 2-5/32 | 3/4 0 WW4a4AY
3/8 2 5 2.1/2 | 13/32 1 WWa4G32
AGND 2 g 2-1/2 3/4 0 WWa44G25
2 6-5/16 | 2-11/16 | 3/4 1 WW44BC
B 2 7-3/8 | 2-7/16 | 3/4 0 WW44BF
3 4-1/2 | 2-1/2 3/4 1 WwW44G6
3 5 2.1/2 [3/4 1 WwWa44G22
A 3 10-1/8 | 2- /32 | 19/32 1 WW44A
THD 2 5 2-1/2 | 3/4 : -0 1 Ww44G25
TJD 2 8-7/16 j 2 3/ 4 -0 WW4434
B 3 4-1/2 | 2-1/2 | 3/4 1 WW44G8
3 4-1/2 | 2-1/2 | 3/4 0 WwW44G10
3 5 2-12 |3/4 1 WWa44G24
VE4D B 3 5 2-12 | 3/4 1 WWA44ES
VF4D
VH4D Comb. 4 5-3/8 |2-1/2 |34 1 WWA44EB
A-B

Wisconsin Centrifugal Clutches




Centrifugal Clutch

The above is a typical Wisconsin Centrifugal Clutch, except for size and
‘number of “V* Belt Grooves. Service Parts List should agree with Clutch
- Assembly number located on Cover Plate.

.GENERAL INFORMATION AND INSTRUCTIONS

“A central hub is keyed to the crankshaft of the engine and
‘carries six radial adjustable guide pins on which slide six
clutch shioes. Normally, with the engine at rest, the clutch
-shoes are held o the inner or free position by springs
assembled on the guide pins. These parts constitute the
hub and shee assembly (Ref. 7). : :

The spring tension is adjusted at the factory on a special
machine, so that alt shoes will carry equal loads and that
engagement will occur at the speed specified. No atiempt
should be made to readjust the clutch springin the field, as
this cannotbe done sahsfacton!y withoutthe proper equip-
ment. .

At low engine speeds the clutch will remain disengaged, :

butasthe engine speed increases, the centrifugal force will

move the shoes out against the drum, with light pressure .

atfirst, so that a smooth pick-up will result while the clutch

-is slipping. As the speed increases the pressure of the
-shoes will also increase until slipping stops and complete
“engagement for load speed operatian is attained. There is
& difference of several hundred revolutions between the
free running speed and full engagement, dependmg upon
the amount of power transmitted.

“Ifthe shoes become worn tothe extentthat the clutch does
_not engage at the load speed; replace with a completely
.new hub and shoe assembly. The engagement R.P.M. and

the mode! of the engine on which clutch is used must be
specified. In reassembly; the hub and shoe assembly. is
retained on the crankshaft by means of two set screws
(Ref. 10). Stake threads around the outer setscrew after
tightening securely in place,

The clutch housing (Ref. 8 is mounted to the crankshaft
withtwo ball bearings (Ref. 3). These bearings revolve only
when the enging is running at low speed, before clutch en-
gagement takes place. The bearings are packed with
grease in assembly, assuring long service without further
lubrication. o :

Two size hub and shoe assemblies are availabla; the light
ones for the single cylinder engine models and the heavier
ones for models AGND, THD, TJD, VE4D and VF4D. See
hote below.

NOTE: Each size hub and shoe assembly is availabie with
clutch shoe springs of three different spring tensions for
the varicus operating speed ranges. A number stamped on
the shee hub indicates the cut-in speed. Example: 6 for
600, 10 for 1000, 18 for 1800, etc. When ordering hub and
shoe assembly, specify cut-in R.P.M. (start of engage-
ment), which should be 300 to 400 R.P.M. iess than the
actual operating speed. Hub and Shoe Assembly must be
serviced as a unit. :

1-

— Wisconsin Centrifugal Clutches




{TEM = PART NO.

|wm_x

| Wwa4-2 Céntrifugél Clutch

USE WITH MODELS BKN, ACN, AB, AA

WC254A1
w296
PL16

-RE23

XA8

PE14

" XE58A

BH130
HG178

WW44AA Centrifugal Clutch

.USE WITH MODELS TE, TF

COMPLETE CLUTCH ASSEMBLY PART NO.
IS STAMPED ON COVER PLATE

M

RN

@\

gt

CLUTCH SHOE

AL
AL A

~J

2

00-00-0

'SPOT CRANKSHAFT
FOR SET SCREW SEAT

The above is a typical Wiscensin Centrifugal Clutch, except for size and
number of “V" Belt Grooves. Service Parts List should agree with Clutch
Assembly number located on Cover Plate. i

DESCRIPTION QTyY
Clutch housing {(NLA}............. 111
. Hub and shoe assembily ........ 1
#11 Woodruff key .....ccccoeeeeee 1|2
.. Alemite #1652 straight
grease fitting {not illustrated} 3
.. Screw, 4
. #10-32 thread x 1/2" long...... 3.
Lock washer, #10....cc.ccceunneeenn 3|58
Set screw, 6
1/4"-20 thread x 5/16" ............. 2
Cover plate ...cccevvvieecncerssnen T |~
Bushing v, 1
7
8
9
10
-2-

ITEM PART NO.

WC32481
- WC296A13

PL134
XA8

PE14
XE59.

XE64

BH130 .
HF356
HF4398
QD724
ME128A

Wisconsin Centrifugal Clutches .

DESCRIPTION arty

Clutch housing and bearing

assembly (NLA) ....ccceeevvvreernnnn, 1
Hub and shoe assembly
{NLA} ....cceeeee.e vonnns 1

Key, 3/8" sg. x 1-5/8" long ...... 1
Screw,

#10-32 thread x 1/2" long........ 3
Lock washer, #10......ccccovviaeeen 3
Set screw,

5/16*-18 thread x 3/4" long .... 1
Set screw,

1/4"-20 thread x 3/8" long

. {notillustrated) .....covcverernrernnns 1
Cover plate .....cccevvrvrvenciinnnnnn 1
Collar {not illustrated) ............ 1
Spacer ......ocecrverirereenrennn 1
Corkseal .ceeiviriinsiiereeecnnnnnnn 1
Ball beafing ....cccomirnveininine 2




ITEM PART NO.
1 WC340-181
2 WC296-8
3 PL86 .
4 Xb4

— XD25

5 PE112

— PH281A

6 - XE66

7 BH13013

— HF441C

8 HF466

10 ME133A -

WW44AM Centrifugal Clutch
USE WITH MODELS AEN, AENL

PES

1S STAMPED ON COVER PLATE

WW44AM1 Centrifugal Clutch

* USE WITH MODELS AEN, AENL
COMPLETE CLUTCH ASSEMBLY PART NO.

CLUTCH SHOE

5

L

7

%_

00-00-0

/ SPOT CRANKSHAFT

FOR SET SCREW SEAT

&

The above is a typical Wisconsin Centrifugal Clutch, except for size and
number of "V" Belt Grooves. Service Parts List should agree with Clutch
Assembly number located on Cover Plate.

DESCRIPTION QTy

Clutch housing and bearing
assembly

‘Hub and shoe assembly ........1
Key, 1/4" sg. x 1" long ....ceeel 1
Screw, '
1/4"-20 thread x 1/2" long ...... 3
- Screw,
3/8"-16 thread x 3/4" long .
“(not illustrated) wecceveeeeeennenn 1
“Lock washer, 1/4" ... 3
- Washer (not illustrated) ......... 1
Screw, ’
3/ "-24'_thread X 3/8" long
(NLA)} .. rrerere e rrres s 2
Cover plate S |
Spacer {not n[lustrated) .......... 1
SPACET e e enen ]
Bearlng ...................... FODIRR 2
Lock washer, 3/8" ' '
{not illustrated) ......ccoenieninnne 1

1

2
3
4

82

=]

ITEM PART NO.

W(C340-152

WC296-8
PL86
XD4

Xp25 -

PE112
PH281A
XE66

BH130-13
HF441C
HF466
ME133A
PE5

Wisconsin Centrifugal Clutches

DESCRIPTION

Clutch housing and bearing
assembly .......cccceeireriveeennninnen.

“Hub and shoe assembly ........

Key, 1/4" sq. X 1" long ...
Screw,

1/4*-20 thread x 1/2" long ......
Screw,

3/8"-16 thread x 3/4" long
{not Hlustrated} .......oeeeeeeveereene
Lock washer, /4" ......iveeenenne.
Washer (not illustrated) .........

‘Screw, _
- 3/8"-24 thread x 3/8" long

EA | I R :
Cover plate ....ccceeeeevviivscieniinins
Spacer {not illustrated) ..........
570 T: 107 =] (P
Bearing ...cc...ovveeveinnincsssiniesnnins
Lock washer, 3/8"

{not illustrated) .......ccceveennnnne

aTy

W =

—




' WWA44AV Centrifugal Clutch
USE WITH VARIOUS MODELS .

WW44AY Centrifugal Clutch
USE WITH MODEL AENL

COMPLETE CLUTCH ASSEMBLY PART NO.
IS STAMPED ON COVER PLATE

' ;% SPOT CRANKSHAFT
: FOR SET SCREW SEAT
............... . [
i

’///’// . 4

9 / B | /
8 / | / a _% \5
Vo | 6

HUB —— ol |

27 I 7

CLUTCH SHOE

The above is & typical Wisconsin Centrifugal Clutch, except for size and
number of “V" Belt Grooves. Service Parts List should agree with Clutch
Assembly number located on Cover Plate. -

ITEM PART NO. DESCRIPTION QTY | ITEM PART NO. DESCRIPTION Qry

1 WC254431 - Housing and bearing 1 WC340-151 - Clutch housing and .
assembly ..o 1 bearing assembly ......cccovvrneee. 1

2 WC296-3 .- Hub and shoe assembly ........ 1|2 WC296-15 Hub and shoe assembly ........ 1
3 PL82 Key, 1/4" sq. x 1-1/4" long ...... 113 PL86 Key, 1/4" sq. x 1-1/4" long ...... 1
4 XAB Screw, 4 XA8 - Screw, '

#10-32 thread x 1/2" long....... 3| U #10-32 thread x 1/2" long.......3

5 .PE14 Lock washer, #10........cccvireee. 3|5 PE14 . #10 Lock washer ... 3
6 XEBBA Set screw, 6 XEB4 Set screw,

_ : : - 1/4"-20 thread x 5/16" long ....2 _ . ¢+ 1/4"-20 thread x 5/16" long ....2
7 BH130 Cover plate .......ocecevivieeriieenne 1 | 7 . BH130-13 Cover plate ...
8 HF512 Bearing spacer (NLA}............ 118 HF441C -Bearing spacer
9 QD723 Corkseal .o 119 QD723 L0 11 =TT |
10 ME132 Bearing ....icooeeinmnmenninnneee. 2|10 ME133A . Ball bearing .....coveevivcirenreenaia

-4-

Wisconsin Centrifugal Clutches -




WW44B10 Centrifugal Clutch WW44B12 Centrifugal Clutch
‘USE WiTH MODELS AEN, AHH USE WITH MODELS ACN, BKN, AA, AB, AK

COMPLETE CLUTCH ASSEMBLY PART NO.
IS STAMPED ON CCVER PLATE

\ 00-00-0
10 / 2
/ e
/ SPOT CRANKSHAFT
G = / FOR SET SCREW SEAT
.............. 4] [ '
N 7
/-
LT 5 - 4
9 / '// K X
8 / =4 || \5
[ i 6
HUB __/ G b | \
L 7

CLUTCH SHOE

The above is a typical Wisconsin Centrifugal Clutch, except for size and
number of “V" Belt Grooves. Service Parts List should agree with Clutch
Assembly number located on Cover Plate.

ITEM PART NO. - DESCRIPTION QTY | fTEM PARTNO. . DESCRIPTION - QTy
1 WC281A6S1  Housing and bearing 1 WC254ES1 - Cluteh housing and

assembly (NLA) ....cccveeeneecnnns 10 ° bearing assembly (NLA) ......., 1
2 WC296-1 Hub and shoe assembly 2 WC296-1 Hub and shoe assembly

: ANLA) s 1 (NLA)} e 1

3 PL16 : #11 Woodruff key ... vevuveees 13 PL16 - #11 Woodruff key ...oovevcevveennn 1
4 XAS8 ~.Serew, ' 4 XA8 Screw, e
' . : #10-32 thread x 1/2" long ....... 37 ~ #10-32 thread x 1/2" long....... 3
5 PE14 Lock washer, #10 ...coccvvvieiinnee 3|56 PE14 Lock washer, #10....... Cierereaean 3
6 XEB8A Set screw, 6 XEB8A Set screw,

1/4"-20 thread x 5/16" long ....2 1/4"-20 thread x 5/16" long ....2
7 BH130 Cover plate ...... et eiai e rans 17 BH130 Cover plate ...ooeceeeccevcrnreennane, 1
8 HF511 Spacer (NLA) .......ccceervreeenee. 118 HF510 Spacer {NLA) ....coccvriveeceeeenn 1
10 ME82 Ball bearings (NLA} .....cccveeen. 2] 10 MES2 Ball bearings {NLA} .......c....... 2

-5-

- Wisconsin Centrifugal Clutches



WW44B13 Centrifugal Clutch WW44B14 Centrifugal Clutch
USE WITH MODELS AENL, ADH, AEN, AEH USE WITH MODELS ABN, AKN, AB, AK, ACN, BKN

COMPLETE CLUTCH ASSEMBLY PART NO.
IS STAMPED ON COVER PLATE

00-00-0

\ _ SPOT CRANKSHAFT

FOR SET SCREW SEAT

CLUTCH SHOE

The above is a typical Wisconsin Centrifugal Clutch, except for size and
number of V" Belt Grocves. Service Parts List should agree with Clutch
Assembly number located on Cover Flate.

VL

ITEM PART NO.- - DESCRIPTION - Qty | ITEM PART NO. DESCRIPTION QTY
1 WC254G151 Housing and bearing 1 WC254-851 Clutch housing and
T assembly o 1 bearing assembly ..........c........
WC296-4 Hub and shoe assembly ........1 | 2 WC296-3 - Hub and shoe assembly .......
PLBZ ‘Key, 1/4" sq. x 1-1/4"long ......1 | 3 -PL82 Key, 1/4" sq. x 1-1/4" long ......
XAB. - . Screw, 4 XAS8 Screw,
‘ . _ #10-32 thread x 1/2° long........3 _ - - #10-32 thread x 1/2" long........
5 PE14 . Lock washer, #10...... R 3|6 PE14 Lock washer, #10.........ccceeee
6 XE62 .- Set screw, 6 XESBA . Set screw, o _
~ 1/4"-20 thread x 5/16" long ....2 S 1/4"-20 thread x 5/16" long ....
7 BH130 Cover plate ........ccevcveniinnininnn 1 | 7 BH130 Cover plate ...cccvvviieneevnvviinnns
8 HF489 Spacer ....ccceevervvvmsisimrrennn 1 1 8 . HFB12 .. Spacer{NLA) ..ccceeveeiecivee
10 ME133A Ball bearings ........cceeinnvercnninnns 219 QD723 Corkseal ....coociierierriincinnnns
10 ME132 Ball bearings .....ccccecvreicecreneen.
-6-

— Wisconsin Centrifugal Clutches



9
8
ITEM PART NO.
1 WC254G2S1
2 WC296-3
3 - PL8s
4 XAB
5 . PE14
6 XEB8A
7 BH130
8  HFB05.
9 .0D723
1 ME132

WW44B22 Centrifugal Clutch

"USE WITH MODELS S8D, ACN, BKN, AKN

WW44B28 Centrifugal Clutch
USE WITH MODELS AENL, AGND

COMPLETE CLUTCH ASSEMBLY PART NO.
1S STAMPED ON COVER PLATE

CLUTCH SHOE

1
00-00-0
2
3
- SPOT CRANKSHAFT
FOR SET SCREW SEAT
/'///” / 4
L] J ! N
-//
B B
HUB ] ! \
a2 S s
7

The above is a typical Wisconsin Centrifugal Clutch, except for size and
number of "V" Belt Grooves. Service Parts List should agree with Cluich
Assembly number lecated on Cover Plate.

DESCRIPTION

Housing and bearing’

assembly ...,
Hub and shoe assembly ......
Key, 1/4" sq. x 1-1/4" long ....

Screw,

#10-32 thread x 1/2" long .....
Lock washer, #10 .................

Set screw,

1/4"-20 thread x 5/16" long ...
Cover plate ...ccccceeeeevvveinnneeen,
SPACET it
Cork seal covvrveeceeeeereevinans
Ball bearings .....ccccevvevvereeeenn.

Wisconsin Centrifugal Clutches

ITEM PART NO, DESCRIPTION QTy
1 WC281DS1 Housing and bearing
assembly (NLA) ......c.ccceeeee. 1
2 WC296-4 Hub and shoe assembly ........ 1
3 PL160 Key, 1/4" sq. x 5/8" long ......... 1
— PK102 Snap ring {not illustrated)
: (NLA) oo 1
6 - XES8A " ‘Set screw,
1/4"-20 thread x 5/16" long ....2
8 HF507 Spacer (NLA} .coverviivicineennnns 1
10 ME1318B Ball bearings ....ccoveeiiievceeccenns 2




WW44B33 Centrifugal Clutch
USE WITH MODEL AEN

10

WW44B34 Centrifugal Clutch

USE WITH MODEL AKN
COMPLETE CLUTCH ASSEMBLY PART NO.

1 IS STAMPED ON COVER PLATE g

00-00-0
f |
i 2
O
s
E 3
= SPOT CRANKSHAFT
FOR SET SCREW SEAT

HUB

CLUTCH SHOE

The above is a typical Wisconsin Centrifugal Clutch, except for size and number of “V” Belt Groovas.
Service Parts List should agree with Clutch Assembly number located on Cover Plate.

ITEM PART NO.

1

BTV L]

WC254E251

WC296-4
PL82
XA8

PE14
XE58A

BH130
HF422

HF469
ME133A .

DESCRIPTION

Housing and bearing

assembly (NLA} ......ccoveeeenenes
Hub and shoe assembly ........
Key, 1/4" sq. x 1-1/4" [ong ......

Screw,

#10-32 thread x 1/2" long .......
" #10 Lock washer ......cvceeenninnee

Set screw,

1/4"-20 thread x b/16" long ....
Coverplate ....ccoviiiiemeneeeeees

Crankshaft collar

{not illustrated) .......cccecevrvnvraens
Bearing spacer .......cccecviiieenns
Ball bearing ..cceovveeceeeeeeerirns

1

= W

= O oo~
| 3

-8-

)

ITEM " PART NO.

WC281-651
WC296-11
PL160
XC61

XD25

XE54

BH130-11
HF456
Qb723
ME132
PA315

PES

PH281A

Wisconsin Centrifugal Clutches

DESCRIPTION

Ciutch housing and

bearing assembly (NLA) .
Hub and shoe assembly .
Key, 1/4"sq. x 5/8" long ...

Screw,
#10-32 thread x 1/2" long
Screw,
3/8"-16 thread x 3/4" long

{not illustrated) ................

Set screw,

1/4"-20 thread x 7/16" fong ....1

Cover plate (NLA}............
Bearing.spacer (NLA} ......
Corkseal ....cccocmeeeeeennnenn
Ball hearings ........ovecveeenee

Groove pin, 3/32" x 1/2" long

{not ilustrated) ................
Lock washer, 3/8"

(not ilustrated)} .......cevueene.
Plain washer

(not iHustrated} .........cee...




WWA44B35 Centrifugal Clutch
USE WITH MODEL AEN

ITEM PART NO.

1 WC254E1351

2 WC296-4
3 .. PL82

4 . XA

5 PE14

6 XES8A

7 BH130-10
8 HF469

10 ME133A

WW44B39 Centrifugal Clutch
USE WITH MODEL ACND

COMPLETE CLUTCH ASSEMBLY PART NO.
IS STAMPED ON COVER PLATE

HUB —/ 11

CLUTCH SHOE

FOR SET SCREW SEAT

e b

| / SPOT CRANKSHAFT

.The above is & typical Wisconsin Centrifugal Clutch, excep{ for size and.

number of “V" Belt Grooves. Service Parts List should ag
Assembly number located on Cover Plate.

DESCRIPTION

QaTy
Housing and bearing
assembly (NLAY «..ocvvvvseeeene 1
Hub and shoe assembly......... 1

Key, 1/4" sq. x 1-1/4" long ...... 1
Screw, .
#10-32 thread x 1/2" long........ 3

- #10 Lock washer ..................... 3
. Set screw,
1/4%-20 thread x 5/16" long ....2
- Cover plate .......ccoveerreenns rerenees 1
Bearing Spacer .....ccceeeeeeeen. 1
Ball bearing .....cccccenniiienasinanan. 2

ITEM PART NO. -

1 WC254G2S1
2 wWC296-3

3 PLS6 .

4 XAB

5 PE14

6 XEBSA

7 BH130

8 HF505

9 QD723

10 ME132

- Wisconsin Centrifugal Clutches

ree with Clutch

DESCRIPTION

QaTyY.
Housing and bearing
assembly .o, 1
Hub and shoe assembly ........ 1
Key, 1/4" sq. x 1" long ............ 1

- -Secrew,

#10-32 thread x 1/2" iong....... 3
#10 Lock washer ....c.occcvverinnees 3
Set screw,
1/4"-20 thread x 5/16" long ....2
Coverplate .....cocovviiceeeecenes 1
Bearing spacer ........coovvervnnnns 1
Cork seal .ovevveveccee e 1
Ball bearings.......covvvvvcivinennas 2




ITEM

o,

= {0 00 ~J

WWA44B51 Centrifugal Clutch
USE WITH MODELS ACN, BKN, S7D, S8D

COMPLETE CLUTCH ASSEMBLY PART NO.

PART NO.
WC254KS1

WC296-3
PL86
XA8

PE14
- XES8A

BH130-10
HF505

QD723
ME132

WW44B54 Centrifugal Clutch
USE WITH MODEL AENLD

IS STAMPED ON COVER PLATE

SEAT‘

77 00-00-0
10 =
2
-y 1
% T / ’
SPOT CRANKSHAFT
r = ' FOR SET SCREW
Al
TRl I
H \ 7
AR
//"’/ 1 ' 4
7 ] /
41/
_/// N
/— — \5
- N 6
- HuB e \
7

CLUTCH SHOE

The above is a typical Wisconsin Centrifugal Cluich, except for size and
number of “V" Belt Grooves. Service Parts List should agree with Clutch
Asgsembly number located on Cover Plate.

DESCRIPTION

-10-

‘Wisconsin Centfifugal Clutches

Clutch housing

DESCRIPTION

Hub and shoe assembly

KEY oot

Screw,

#10-32 thread x 1/2" long
Lock washer, #10 ............
Set SCrew ..vvveceicennn...
Cover plate
Spacer {NLA})
Cork seal
Ball bearings ..........ccveeeves

2 | Governor con_trol gives foilowing speeds:
- 1100 RPM (idle)

- 3080 RPM (load) .
Do not cperate engine under load below 2250 RPM

QTY | ITEM PART NO.
Housing and bearing 1 WC275D9
assembly ....cccveneeciniccnnnnn 1T | 2 WC296-4
Hub and shoe assembly ........1 | 3 P82
Key, 1/4" sq. x 1" long ...cco..... 114 XA8
Screw,
#10-32 thread x 1/2" long........ 3|5 PE14
Lock washer, #10 ......cceiveenen. 3|6 XESBA
Set screw, 7 BH130
1/4"-20 thread x 5/16" long ....2 | 8 HF606
Coverplate .covvvveeeevvveeeeen 1 | 9 QD668
S BPACET et e 1410 ME133A
Cork seal .vvviieerrnrserreniens 1
Ball bearing .....ocoveivvevivevernnns
| First notch
Second notch - 2250 RPM (load)
Third notch
Do not idle engine above 1100 RPM




1 2
TIGHTEN SECURELY
AND UPSET THREADS
AFTER CLUTCH HAS
Ll s 3 BEEN ADJUSTED
19
4
5
18 /
— E 6
17 N /
1 : —
o |
16 ‘ (o . =
_] 7
- ™~
15 8
/ [~ 11
14
10 PACK WITH GREASE
2z SOCONY BRB4 :
12
9 13
SPOT C' SHAFT
FOR SET SCREWS
IN ASSEMBLY
[TEM PART NO. DESCRIPTION - QaTty
1 WC275E14 Housing ..........t RS S 1
2 XB73 Screw, 3/8"-24 thread............. 6
3 XEB8BA Set screw, 1/4"-20 thread ....... 6
4 HF 466 SPACET e 1
5 ME133A Bearing ....c.coovcrvimiiinieeninnn, 2
6 PH281A Washer .o 1
7 XD25 Bolt, 5/16"-18 thread .............. 1
8 PEG - Lock washer .....ccoceninnceeces 1
9 XE64 Set SCrew .....veeeeeenee.
10 WC255A
11 WC256B1
12 XJ42
13 WC2s57 ] £ 11 oV PN 6
14 BH130-13 End cover......... v 1
15 PE34A Lock washer, shakeproof....... 3
16 XD4 Bolt, 1/4"-20 thread ...............:3
17 HF441B SPACET vvvuersnemnascssnsnisssrarensnes 1
18 - XE61 Set screw, #10-32 thread ....... 2
19 PL86 KBY coeecivieiece e ets e e e e e 1

WW44B57 Centrifugal Clutch
USE WITH MODEL AENL

—Wisconsin Centrifugal Clutches .

"_WW44SC Cen_trifugal Clutch
USE WITH MODEL AGND

COMPLETE CLUTCH ASSEMBLY PART NO.
IS STAMPED ON COVER PLATE

00-00
2
3
-
SPOT
CRANKSHAFT
FOR SET SCREW
SEAT
P
o . l%ﬁ
- ‘ 6
9 " \

HLJB
ITEM PART NO.
1 WC311-451
WC296A8

PL82
XAB

BN

PE14
XE5S

o o

7 BH130
8 HF356
9 Qb723
10 ME128A

7

CLUTCH SHOE

DESCRIPTION

Clutch housing and
bearing assembly .......ccooe.
Hub and shoe assembly ...
Key, 1/4" sq. x 1/4" long

‘Screw,

#10-32 thread x 1/2" long ..

#10 Lock washer .......cecevcnnneeee

Set screw,

5/16"-18 thread x 3/8" long ...
" Cover plate ...vecevveniirerrenennes

Bearing spacer
Cork seal
Ball bearing

-0




Wwi4BJ

Centrifugal Clutch

USE WITH MODELS S$10D, 512D, §14D

ITEM PART NO.

1 WC275E12S1
2 WC296A11S1
3 PL82

4 ‘XAB

5 ‘PE14

6 XE55

7 BH130

8 HF&26

10 - - ME133A

COMPLETE CLUTCH ASSEMBLY PART NO.

WWA44E Centrifugal Clutch

USE WITH MODELS AGND, THD

IS STAMPED ON COVER PLATE

1
00-00-0
10 i / 2 |
= { 3
%”HHI!I!-
Ean SPOT CRANKSHAFT
3 Ej\t. FOR SET SCREW SEAT
Rt 1 [
Ny 7
|/
=il ' P 4
/ B
pdia\ls ‘ \5
S 6
HUB \

CLUTCH SHOE

G

The above is a typical Wisconsin Centrifugai Clutch, except for size and
-+ riumber of "V" Belt Grooves. Service Parts List should agree with Clutch
Assembly number located on Cover Plate.

DESCRIPTION oTyY
Housing assembly 1
(includes item 10} ...ccocuvccvnenns 1|
Hub and shoe assembly ........ 112
Key, 1/4" sg. x 1-1/4" long ...... 113
Screw, 4
#10-32 thread x 1/2" long .......3
"Lock washer, #10 ... 3| -
Set screw, o
5/16"-18 thread x 3/8" long ....2 | &
Cover plate ..o 1 | 7
Spacer (NLA) ........ocovreeenenne. 118
Ball bearings .......coovciniieieiinnns 2 |10
-12-

ITEM PART NO.

WC275881

WC296A
PL47
XEBb5

- XA8

PE14
BH130
HF516
ME128A

= Wisconsin Centrifugal Clutches

DESCRIPTION aty
Clutch housing and

bearing assembly (NLA) ........ 1
Hub and shoe assembly ........ 1
Key, #18 Woodruff ................. 1
Set screw,

5/16"-18 thread x 3/8" ............ 2
Screw,

no. 10-32 thread x 1/2" long .. 3
#10 Lock washer ......ccveeeeeeen. 3
Cover plate .....cccoiiviniiniinicean 1
Bearing spacer (NLA)............. 1
Ball bearing ..cocveeeeeeiiiiinieininn 2




ITEM

.= 00~

WW44E4 Centrifugal Clutch

'USE WITH MODEL VE4

FART NO.
WC275E151

WC296A
PLA7
XA8

PE14
XES5

BH130-10
HF517
ME128A ..

COMPLETE CLUTCH ASSEMBLY PART NO.

WWA44E6 Centrifugal Clutch
USE WITH MODEL VF4D

IS STAMPED QN COVER PLATE

10

p
[

CLUTCH SHOE

i
..////A"///'//

00-00-0

/ SPOT CRANKSHAFT

FOR SET SCREW SEAT

The above is a typical Wisconsin Centrifugal Clutch, except for size and
number of "V Belt Grooves. Service Parts List should agree with Clutch

Assembly nurmber located on Cover Plate.

DESCRIFTION

Clutch housing and bearing
assembly (NLA) ......cceveene.
Hub and shoe assembly ........
Key, #18 Woodruff ................
Screw, -

#10-32 thread x 1/2" long.......
 #10 Lock washer ..o,

Set screw,

5/26"-18 thread x 3/8" long ....
Cover plate ....cevvevieieenniciiinns
Spacer {NLA) ..o

" -Ball bearings ....ccvvereernnnen

QaTy

1
1
12
113
4
3
3.5
6
2
1 —
2
2
7
8
9
10
-13-

ITEM PART NO.

WC275B51

WC296A7
PL134
XA8

PE14
XE55

XE58A

BH130
HF501
aD724
ME128A

- Wisconsin Centrifugal Clutches

DESCRIPTION QTYy
Housing and bearing
assembly .., - R |
Hub and shoe assembly e 1
Key, 3/8" sq. x 1-5/8" long ...... 1
Screw,

#10-32 thread x 1/2" long.......3
#10 Lock washer ... ienianee 3
Set screw, :
5/16"-18 thread x 3/3" Iong i
Set screw,

1/4"-20 thread x 5/16" long
{not illustrated) ..eeviciinienens 1
Cover plate .. vveeceeceisecnnn 1
Bearing spacer {NLA) ............. 1
Corkseal ..ol 2
Ball bearings ...cc.oceeereeriieeninnn 2




‘WW44G1 Centrifugal Clutch WW44G2 Centrifugal Clutch

USE WITH MODELS AGND, THD, TJD USE WITH MODELS AFH, AGH,
_. AHH, THD, TJD, TE, TF

COMPLETE CLUTCH ASSEMBLY PART NO.
IS STAMPED ON COVER PLATE

1
[ W 00-00-0
1,
\ 3 3
BRIAN 3
== i) SPOT CRANKSHAFT
= FOR SET SCREW SEAT
A R E—
AR
T i 4
/ 3 i /
9 | ﬁ
‘/// \~ .
.8 / "\ Y : _ \5
o b I 6
S HUB A \
. 7
CLUTCH SHOE
The above is a typical Wisconsin Centrifugal Clutch, except for size and
-number of “V* Belt Grooves. Service Parts List should agree with Clutch
Assembly number located on Cover Plate.
ITEM PART NO. DESCRIPTION Q7Y | ITEM PART NO. . DESCRIPTION QaTy
1 WC275D -~ Clutch housing and 1 WC275E51 Housing and bearing '
' o bearing assembly ... 1 assernbly ..., 1
2 WC296A1 Hub and shoe assembly ........ 112 WCZ296A1 Hub and shoe assembly ........ 1
3 PL49 - Key, 1/4" sq. x 1-1/4" long ...... 113 PLAS Key, #15 Woodruff ................ 1
4 XAB Screw, 4 XA Screw,

; #10-32 thread x 1/2" long........ 3 #10-32 thread x 1/2" long....... 3
5 PE14 : #10 Lock washer.......icvueeeee.. 3|5 PE14 #10 Lock washer ......ccceeeeeenen. 3
6 XELS - Set screw, o 6 XEBB Set screw,

1/4"-20 thread x /16" long ....2 5/16"-18 thread x 3/8" long ....2
7 BH130 ' Cover plate ...cocecevveeevrcinvnininns 117 BE130 Cover plate .ooeveeeeeeeeecee e T
8 HF471 - Bearing spacer ..., 118 HF471 SPACET cverrreecarrrcreseress s 1
9 Qb723 © Cork seal ceee e 1|10 ME127 Ball bearings.....cccccveeeeeennnenn. 2
10 ME127 Ball bearing ..o iiiiiiveas 2
-14-

— Wisconsin Centrifugal Clutches



WW44G8 Centrifugal Clutch

USE WITH MODELS TJD, TE, TF

N

UB

CLUTCH SHOE

The above is a typical Wisconsin Centrifugal Clutch, except for size and
number of “V* Belt Grooves. Service Parts List should agree with Clutch

Assembly number located on Cover Plate.

i

faTsToTe]|
O

WW44G10 Centrifugal Clutch

USE WITH MODELS AGND, TF
COMPLETE CLUTCH ASSEMBLY PART NO.

1S STAMPED ON COVER PLATE %

ITEM PART NOC. PESCRIPTION QTY | ITEM PART NO.
1 WC275E281  Housing and bearing 1 WC275E4S51
assembly . 1 .
2 WC296A7 Hub and shoe assembly ........ 1| — XAT
3 PL134 Key, 3/8" sq. x 1-5/8" long ...... 1
4 XA8 Screw,
#10-32 thread x 1/2" long......3 | — XD27
5 PE14 #10 Lock washer .....ccccevenen 30
6 XEbG5 Set screw,
#10-32 thread x 1/2" long........ 3| — XES8A
— XEbBA Set screw,
5/16"-18 thread x 3/8" iong ....2
7 BH130 Cover plate ........ccee v vivrveenee 112 WC296A7
— HF356 Spacer {not illustrated} .......... 113 PL144
8 HF486 Bearing Spacer ......cccvreennnns 1| — QD700
9 QD724 Cork seal .eviicevcvenenivciennnnn 2 | B XEBS
10 ME128A Ball bearings ....ceovvvenniiennnns 2
8 HF473
9 Qb724
— SA98
10 ME128A
— PES
— PE14
— PHB8
«715-

Wisconsin Centrifugal Clutches

SPOT CRANKSHAFT
FOR SET SCREW SEAT

DESCRIPTION Qrty
Housing and bearing
assembly i
Screw,

#10-32 thread x 3/8" long

(not illustrated) (NLA) ...........4
Screw,

3/8"-16 thread x 1" long

{not illustrated) ......c..c.cc.coeennen 1
Set screw,

1/4"-20 thread x 5/16" long
{not illustrated} ........cceeniiirenns 2
Hub and shoe assembly ........ 1
Key, 3/8" sq. x 1" long ... 1
Gasket (not illustrated) .......... 1
Set screw,

5/16"-18 thread x 3/8" long ....2
Bearing spacer (NLA)} ............ 1
Corkseal ..o, 1
Cover {not illustrated)

Ball bearing ........cccoceiininee . 2
Lock washer, 3/8"

{not illustrated) .....cccccecceceiennn 1
#10 Lock washer '

(not illustrated) ..........ccceeviven &
Retainer washers

(not illustrated) ........ccccoveuevinens 1




ITEM

WW44G15 Centrifugal Clutch
USE WITH MODELS VF4D, VH4D, VE4D

PART NO.

WC275E551
WC296A4
PL4S

XEBS

BH130-7

" HF519

ME127

COMPLETE CLUTCH ASSEMBLY PART NO.

IS STAMPED ON COVER PLATE

WW44G21 Centrifugal Clutch
USE WITH MODEL TF

CLUTCH SHOE

SPOT CRANKSHAFT
FOR SET SCREW SEAT

The above is a typical Wisconsin Centrifugal Clutch, except for size and nurmber of V" Belt Grooves.
Sarvice Parts List should agree with Cluich Assembly number located on Cover Plate.

DESCRIPTION QTY | ITEM PART NO.
Housing and bearing. 1 WC275E451
assembly ... 1 :
Hub and shoe assembly ........ 11— XA7
Key, Woodruff #15 ......cevveeees 1
Set screw,
5/167-18 thread x 3/8" long ....2 | — XD27
Coverplate ....ccccoecrcneeinnranenn. 1
Bearing spacer (NLA} ............. 1| — XEBSA
Ball bearings ...ocveiinniienenne 2

2 WC296A7

3 PL144

— QD700

6 XEbB5

— XE59

8 " HF473

9 QD724

— SA98

10 ME128A

— BES

— PE14

— PH88

-T16-

-Wisconsin Centrifugal Clutches

DESCRIPTION QTY
Housing and bearing
assembly {(NLA) ..ccoveenneirennans 1
Screw,

#10-32 thread x 3/8" iong

(not illustrated) ...coovciireniniinnn. 4
Screw, 3/8"-16 thread x 1" long
(not iliustrated} .....cccoeoeeemes 1
Set screw,

1/4"-20 thread x 5/16" long
{not illustrated} ........cceeerivenanen 1
Hub and shoe assembly ........1
Key, 3/8"sq. x 1" long ........... 1
Gasket (not illustrated)

{NLA) oo ierrrer e 1-
Set screw,

5/16"-18 thread x 3/8" long
(NLA) oo ees 2
Set screw,

5/16"-18 thread x 3/4" long
(NLAY oo 1
Bearing spacer {NLA)............ 1
Corkseal ..ovvniviiiiniesiienianes 1
Cover (not illustrated) ............ 1
Ball bearing ..cccvevevvvvvveeeieennn. 2
Lock washer, 3/8"

{not illustrated) .....ccoorvvmmmennnnenn 1
#10 Lock washer .

not illustrated) .....o.covveivieennnns 4
Retainer washers

{not illustrated) .......c.ccoveveeeee. 1




WW44G22 Centrifugal Clutch

WW44G23 Centrifugal Clutch

USE WITH MODELS AGND, AHH, AGH, AFH - USE WITH MODELS THD, TE, TF -

ITEM

Ly w N

= 0 00~

PART NO.

WC275E751

WC296A8

- PL82
- XA8

PE14
XE5Sb

BH130
HF486
QD723
ME128A

COMPLETE CLUTCH ASSEMBLY PART NO.
IS STAMPED ON COVER PLATE :

00-00-0

SPOT CRANKSHAFT
FOR SET SCREW SEAT

HUB

CLUTCH SHOE

’ _The above is a typical Wisconsin Centrifugal Clutch, except for size and
number of "V" Belt Grooves. Service Parts List should agree with Clutch
Assembly number located on Cover Plate.

DESCRIPTION QTY | ITEM PART NO. DESCRIPTION QTyY
Housing and bearing 1 WC275D7S1  Housing and bearing
assembly ..o, 1 assembly (NLA) ..o 1
Hub and shoe assembiy a1 [ 2 WC296A7 Hub and shoe assembly ........ 1
Key, 1/4" sq. x 1-1/4" long ...... 113 PL134 Key, 3/8" sq. x 1-5/8" iong ...... 1
- Screw, ‘ _ 4 XAS8 Screw,
“#10-32 thread x 1/2” I_ong.......3 #10-32 thread x 1/2" long.......3
"#10 Lock washers .. w3 | B PE14 #10 Lock washer ..................... 3
Set screw, ' 6 XE55 Set screw,
- 6/16"-18 thread x 3/8" Iong 2 5/16"-18 thread x 3/8" long ....2
Cover plate .......c.oovverslveeesenenns 1|7 BH130 Cover plate .....c.ccocoecvvvnnnnnen, 1
Bearing Spacer ..., 118 HF486 Bearing $pacer ....eeveenniens |
Cork seal ....ccoverees bt 219 QD724 Cork seal ..cccecvvevvveecnirinennnens 2
" Bearings .., 2|10 ME128A Ball bearing .....coccvivicccrnnnn 2
.-'1 7'

Wisconsin Centrifugal Clutches. -



WW44G24 Centrifugal Clutch

USE WITH MODELS AGH,
AHH, TE, TF, THD, TJD, AFH

COMPLETE CLUTCH ASSEMBLY PART NO.
1 1S STAMPED ON COVER PLATE

ITEM PART NO.

1

2
3
4

-]

- 000

HUB

CLUTCH SHOE

WW44G25 Centrifugal Clutch
USE WITH MODELS AGN, AHH, AGH, AFH, TF, TJD

S

00-00-0

/ SPOT CRANKSHAFT

FOR SET SCREW SEAT

The above is a typical Wisconsin Centrifugal Clutch, except for size and
number of “V* Belt Grooves. Service Parts List shouid agree with Clutch

Assembly number located on Cover Plate.

DESCRIPTION Qrty
WC275E7S81  Housing and bearing

assembly . 1
WC296A7 Hub and shoe assembly ........ 1
PL134 Key, 3/8" sq. x 1-5/8" long ...... 1
XA8 Screw, : :

#10-32 thread x 1/2" long ....... 3
XES8A Set screw,

' 1/4*-20 thread x 5/16" long

{not illustrated) ......c..ceeervinnnnns 1
PE14 #10 Lock washer ....................3
XE55 Set screw,

5/16"-18 thread x 3/8" lon
BH130 Cover plate ......cciiniinseenin: |
HF356 Drive hub spacer

{not illustrated) .evivveveeeeeeans 1
HF486 Bearing spacer ......... e 1
Qb724 Cork seal ...eeeccrenniinieenes 1
ME128A Ball bearings ....ccoeeeeeeeeevneeees 2

ITEM PART NO.

1

-18-

WC275E951
xXp27
WC296A7
PL144
XE55
XEBBA
HF473
Qb724

- ME128A
PES

PH88

-Wisconsin Centrifugal Clutches

DESCRIPTION QTyYy
Housing and bearing
assembly (NLA)...... (ST, 1
- Screw,

3/8"-16 thread x 1" long

{not illustrated) ..o..oiveennns 1
Hub and shoe assembly ........ 1
Key, 3/8" 5q. x 1° long «cceeeeeene 1

Set screw, :
5/16"-18 thread x 3/8" long ....2
Set screw, ' :

1/4"-20 thread x 4/16" long

{not illustrated) .......cccccecrrnnnnnn 1
Bearing spacer {(NLA}............. 1
Cork s8al i 2
Ball bearings ....coeeerveeeenerenns 2
3/8" Lock washer

(not illustrated) ...c.cveirerrenenes 1
Retainer washer

(not illustrated} .....cocoeevirereennne 1




ITEM

O ~-DHO B W

WW44G27 Centrifugal Clutch

* USE WITH MODELS THD, TJD

’
LLLLRLLS
1l

HTHTTRIN

LLRLLLERLLELRRS]

12

PART NO.

WC2Z78E10 -
XB73

WC270-4 .

XEBBA
PL144 - .
ME128A
QD724
PHE8"
XD27A

.. PEB

XJaz :
WC257A -
HF473
XEB5 _
WC2558B -
HF356

TIGHTEN SECURELY

. AND UPSET THREADS |

2 AFTER /ADJUSTING
4 . CLUTCH

WW44G34 Centrifugal Clutch

USE WITH MODELS TE, TF, TH, TJD

TIGHTEN SECURELY
AND UPSET THREADS
AFTER CLUTCH HAS
BEEN ADJUSTED

Wisconsin Centrifugal Clutches

/ T =
o
7 R . d B
= 7
s ' /8 \\_\ %% / .
— UOINERL—
R N ) S (R 5. S I
\ 9
9 /
10 vww )
10
~ \11
14 13 | 12
PACK WITH GREASE 1
15 SOCONX BRB4 o B 7 4 13
L
1 ' 14
15
16
DESCRIPTION QTY | ITEM PART NO. DESCRIPTION Qry
HOUSING cooverv e nrrccnn e, 111 HF356 SPECET i ivveiivi e 1
Screw, 3/8"-24 thread ............. 6|2 ME128A Bearing -..ccocoomieicececen 2
HUDB e ecneninianccninen, 113 HF486 o] oF: o1 =t R
Set screw, 1/4"-20 thread 4 QD724 GAaSKEE ..ot
T KeY e 5 XB73 Screw, 3/8"-24 thread ............. 6
Bearing ccccccrervveeee e 6 WC270-4 Clutch hyub ... 1
Gasketl . e 7 XEB8A Set screw, 1/4"-20 thread..... 13
CWasher . 8 PL134 KEY e 1
Bolt, 3/8"-16 thread ........ 9 XA8 Screw, L
. Lock washer......c..cceurnnn 1 .- 10-32 thread x /2" long.......... 3
“Rivet v 248 1100 PE14 Lock washer .....couceeeeeeeenne. 3
S 1 011, T« RN - B b | BH130 End COVET ceceniivivrerveven i 1
SPAacer e veemrcen e 1 12 XE&S SEt SCrew e 2
‘Set screw, 5/16"-18 thread .....2 | 13 WC255B BhOE .orveerrvrre e rerecernn e B
Shoe i 8 1 14 XJ42 Rivet .o 24
Spacer ... 1 (15 WC257A LINING e esnnnnne <]
16 WC334B Housing .......ccoiiiieciimeincnncnnnnn 1
«19.




WW44G35 Centrifugal Clutch
. USE WITH MODEL TJD

WW44K Centrifugal Clutch
USE WITH MODELS ACN, ABN, AKN, AEH, ADHE

COMPLETE CLUTCH ASSEMBLY PART NO.
IS STAMPED ON COVER PLATE

TIGHTEN SECURELY 1

Wisconsin Centrifugal Clutches

1 2 AND UPSET THREADS
A éfaﬁ-% I_.?DJUSTING
| ' T, 00-00-0
] 10 B~
B E B
5 5 . ) ] // /g. o /
16 . / "/’,’IIE ' 3
\l s . \ \
8 ' \ SPOT
/ \ CRANKSHAFT
I . FOR SET SCREW
Cs A SEAT
i r -
I
|
4
| , | |
/% M 3
| ( P // 4T . )
| ;’:../6/,4_:. f,/ //)A’IAY’ | | 5
(N
4 »::z::f' ‘ / -/ -
N 6
il
o LI/ B PACK WITH GREASE °. 8 e \
15 SOCONX BRB 7
HUB
12 1 CLUTCH SHOE
ITEM PART NO. DESCRIPTION QTY | ITEM PART NO. DESCRIPTION QTY
1 WC275E15 HOUSING evvicnniniveniisnsseninn. 141 WC254FS1 Clutch housing and
2 XB73 Screw, 3/87-24 thread............. 6 : bearing assembly {(NLA} ........
3 WC270-4 HUD 112 WC296-1 Hub and shoe assembly
4 XEGBA Set screw, 1/4"-20 thread ..... 13 . INLAY i
5 PL144 KEY oot i3 PL1E - #11 Woodruff key ..........c.cc....
6 ME128A Bearing .....ccoevvverersinninrenneenees 2|4 XA8 Screw,
7 QD724 Gasket ..o, 2 : #10-32 thread x 1/2" long .......
8 PH83 Washer ..o, 1|5 PE14 #10 Lock washer ...
9 - XD27A Bolt, 3/8"-16 thread ................1 | 6 XEB8A Set screw,
10 PE5 Lock washer.....icccecviinnnennnn 1 "~ 1/47-20 thread x 5/16" long ....2
11 XJ42 Rivet ..o e 24 |7 BH130 Cover plate .....cccvveeeeceeeclonecnnes 1
12 ‘WC257A LiNiNG .ooveeeceinreerersrnrresrevnrrennns 6|3 HF520 Bearing spacer {NLA}............. 2
13 HFA73 SPACET reeeecceeeeeieereetieeenerreenans 1 (10 MEB2 _Ball bearing (NLA)................. 2
14 XE55 Set screw, 5/16"-18 thread .....2 e '
15 "WC255B <11 T 7= R -
16 HF356 SPACEN weeevreirrcrersrnresensrnrssssssenses |
-20-




WW44M Centrifugal Clutch WW44J Centrifugal Clutch
USE WITH MODELS AEN, ADH, AEH USE WITH MODELS ACN, BKN, AB, AK, ABN, AKN

COMPLETE CLUTCH ASSEMBLY PART NO.
1S STAMPED ON COVER PLATE

00-00-0

3

/ SPOT CRANKSHAFT

FOR SET SCREW SEAT

HuUB —/

CLUTCH SHOE

NN

The above is a typical Wisconsin Centrifugal Clutch, except for size and
number of "V" Belt Grooves. Service Parts List should agree with Clutch
.Assembly number located on Cover Plate.

ITEM PART NO. DESCRIPTION QTY | ITEM PART NO. - DESCRIPTION QTyYy
1 WC308S51 Clutch housing and 1 WC254F151  Clutch housing and
- - bearing assermbly {(NLA) ........ 1 bearing assembly {NLA} ........
2 WC296-1 Hub and shoe assembly 2 WC296-3 Hub and shoe assembly ........
- A | 113 PL82 Key, 1/4" sq. x 1-1/4" long ......
3 PL16 #11 Woodruff key ....coveeenn. 114 XA8 Screw,
4 XA8 Screw, : : #10-32 thread x 1/2" long ....... 3
g ' - #10-32 thread x 1/2" long ....... 3|5 PE14 ... #10 Lock washer.........cceceneee 3
5 PE14 #10 Lock washer .....................3 | 6 XEGBA Set screw, _
6 XEB8A Set screw, : 1/4°-20 thread x 5/16".long ....2
_ 1/4"-20 thread x 5/16" long ....2 | 7 BH130 Cover plate .......cccveveeeverernnn.
7 BH130 Cover plate e 1|8 HF512 Bearing spacer (NLA}............
8 HF509 Bearing spacer (NLA) ............ 119 QD723 Cork seal ............ rererrrrerarerearene
10 ME82 Ball bearing (NLA}.................. 2 110 ME132 Ball bearing .....ocoeeviiniceeeeennnan 2
21-

— Wisconsin Centrifugal Clutches



WW44V1 Centrifugal Clutch WW4471 Centrifugal Clutch
USE WITH MODELS ACN, BKN, AENL USE WITH ABN, AEN, AKN, ACN, BKN

COMPLETE CLUTCH ASSEMBLY PART NO.
IS STAMPED ON COVER PLATE

00-00-0

f / 2
/SPOT CRANKSHAFT

FOR SET SCREW SEAT

L 4

M

%
H AN

6

i i 43|

oA SN

7
CLUTCH SHOE

The above is a typical Wisconsin Centrifugal Clutch, except for size and
number of “V" Belt Grooves. Service Parts List should agree with Clutch
Assembly number located on Cover Plate.

ITEM PART NO. DESCRIPTION QTY | ITEM PART NO. DESCRIPTION QTy
1 WC254F181  Housing and bearing 1 WC275-4 Clutch housing .....coicnninnn, 1
assembly (NLA)} ... 112 WC296-3 Hub and shoe assembly ........ 1
2 W(C296-7 Hub and shoe assembly 3 PL82 KBY e 1
(NLA) e 1 1 4 XAB Screw,
3 PL82 Key, 1/4" sq. x 1-1/4" long ...... 1 no. 10-32 thread x 1/2" long ..3
4 XA8 Screw, 5 PE14 Lock washer, no. 10 .....cceee.. 3
#10-32 thread x 1/2" long ....... 3|6 XEBBA Set SCrew . 2
5 PE14 #10 Lock washer.....ccccccceeenn 3 | 7 BH130 Cover plate ...c.ccvccveercrecnrsnrenes 1
6 XEbB6 Set screw, g HF468 Spacer (NLAY e, 1
3/8"-16 thread x 1/2" long ...... 219 QD668 Cork seal ...cccecevevveennnrseninnnns 1
7 BH130 Cover plate ....cccooevvevvvieeecnnn | 10 ME132 Ball bearing ..cceecceviiiiieeene 2
8 HF512 Bearing SpPacer ...ccvveoaceeneeee 1
9 QD723 Corkseal .......c.......e.............. 1 | Governor control gives following speeds:
10 ME132 Ball bearings ......cocovevvrnrrvveenns 2 | First notch - 1100 RPM {idle)
Second notch - 2250 RPM {load)
Third notch - 3080 RPM {load)
Do not operate engine under load below 2250 RPM
Do not idle engine above 1100 RPM

22-

Wisconsin Centrifugal Clutches



	Centrifugal Clutches By Engine Model (pages 1-4)
	Centrifugal Clutches By Part Number (pages 5-6)
	Automatic Centrifugal Clutches Spec./Information page (page 7)
	Centrifugal Clutch {General Information & Instruction} (page 8)
	WW44-2 Centrifugal Clutch (page 9)
	WW44AA Centrifugal Clutch (page 9)
	WW44AM Centrifugal Clutch (page 10)
	WW44AM1 Centrifugal Clutch (page 10)
	WW44AV Centrifugal Clutch (page 11)
	WW44AY Centrifugal Clutch (page 11)
	WW44B10 Centrifugal Clutch (page 12)
	WW44B12 Centrifugal Clutch (page 12)
	WW44B13 Centrifugal Clutch (page 13)
	WW44B14 Centrifugal Clutch (page 13)
	WW44B22 Centrifugal Clutch (page 14)
	WW44B28 Centrifugal Clutch (page 14)
	WW44B33 Centrifugal Clutch (page 15)
	WW44B34 Centrifugal Clutch (page 15)
	WW44B35 Centrifugal Clutch (page 16)
	WW44B39 Centrifugal Clutch (page 16)
	WW44B51 Centrifugal Clutch (page 17)
	WW44B54 Centrifugal Clutch (page 17)
	WW44B57 Centrifugal Clutch (page 18)
	WW44BC Centrifugal Clutch (page 18)
	WW44BJ Centrifugal Clutch (page 19)
	WW44E Centrifugal Clutch (page 19)
	WW44E4 Centrifugal Clutch (page 20)
	WW44E6 Centrifugal Clutch (page 20)
	WW44G1 Centrifugal Clutch (page 21)
	WW44G2 Centrifugal Clutch (page 21)
	WW44G8 Centrifugal Clutch (page 22)
	WW44G10 Centrifugal Clutch (page 22)
	WW44G15 Centrifugal Clutch (page 23)
	WW44G21 Centrifugal Clutch (page 23)
	WW44G22 Centrifugal Clutch (page 24)
	WW44G23 Centrifugal Clutch (page 24)
	WW44G24 Centrifugal Clutch (page 25)
	WW44G25 Centrifugal Clutch (page 25)
	WW44G27 Centrifugal Clutch (page 26)
	WW44G34 Centrifugal Clutch (page 26)
	WW44G35 Centrifugal Clutch (page 27)
	WW44K Centrifugal Clutch (page 27)
	WW44M Centrifugal Clutch (page 28)
	WW44J Centrifugal Clutch (page 28)
	WW44V1 Centrifugal Clutch (page 29)
	WW44Z1 Centrifugal Clutch (page 29)



